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1 129 =+ 1.7 127 =+ 20 127 =+ 05
2 134 + 06 137 = 10 133 = 00
3 115 = 1.5 111 = 06 112 = 09
4 147 =+ 1.2 147 = 10 146 =+ 09
5 158 =+ 0.6 159 =+ 1.0 157 =+ 0.5
6 122 =+ 0.6 120 =+ 0.6™ 120 =+ 05"
7 110 =+ 0.6 110 =+ 0.6® 108 =+ 1.1%
8 135 = 1.7° 133 =+ 1.0* 132 =+ 1.1
9 122 =+ 1.2¢ 121 =+ 0.6™ 119 =+ 1.1
10 111 = 1.0¢ 108 =+ 0.0 108 == 1.1
I 46 =+ 07 46 =+ 05 47 + 05
@4R1B~78A78H) (6 A28 H~10 A 6 A) (9H28B~1H9A8)

1 REYEIZ4A58~7H 28 Thb,
*x2: REHMBIX4B58~7 848 THb.
*3: BREHEILZ4 A 4B8~7828ThH5,
x4 REHMIZ7T A 2H~10 B3 BTHS.
x5 X EHMIZ7 A 4H~10 B3 BTH5.
*6: SREHEIZ10 H3H~1 A5 BThH5,
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